FURTHER EXAMPLES TO SUPPLEMENT TODAY’S LECTURE

1) Do more than 50% of Americans think that Iraq was responsible for the September 11 terrorist attacks?  To find out I sampled 900 Americans and asked them; 473 of them though that Iraq was responsible for those attacks.  Test the hypothesis that the population proportion of Americans who believe that Iraq was responsible for the 9/11 attacks is greater than 0.50. Use =0.01.

2) Is it true that 5% of all adults are afraid of the dark?  To find out I sampled 11,041 adults and asked them whether they are afraid of the dark; 591 of them said that they are afraid of the dark.  Test the hypothesis that the population proportion of adults who are afraid of the dark is 0.05. Use =0.05.

3) Do fewer than 10% of ducks have mites?  To find out I sampled 126 ducks and examined them for mites; 11 of them did.  Test the hypothesis that the population proportion of ducks that have mites is less than 0.10. Use =0.10.

4) I randomly sampled 201 men in the United States, and found that their heights averaged 68.3 inches with a standard deviation of 7.4 inches.  I then randomly sampled 190 women in the United States, and found that their heights averaged 65.9 inches with a standard deviation of 7.2 inches.

a) Test the hypothesis that in the population the mean of women’s height is 64 inches.  Use a two-tailed significance test, with  = 0.05.  Be sure to state the competing hypotheses, compute the appropriate test statistic, and state your conclusion about whether you reject or fail to reject H0. 

b) Test the hypothesis that in the population the mean height of men is more than the mean height of women.  Use a two-tailed significance test, with  = 0.05.  Be sure to state the competing hypotheses, compute the appropriate test statistic, and state your conclusion about whether you reject or fail to reject H0. 

5) I randomly sampled 309 men in the United States and found that 142 of them voted in the 2004 presidential election.  Then I randomly sampled 361 women in the United States and found that 199 of them voted in the 2004 presidential election.

a) Test the hypothesis that in the population the proportion of men who voted was 0.65.  Use a two-tailed significance test, with  = 0.05.  Be sure to state the competing hypotheses, compute the appropriate test statistic, and state your conclusion about whether you reject or fail to reject H0. 

b) Test the hypothesis that in the population the proportion of men who voted was the same as the proportion of women who voted.  Use a two-tailed significance test, with  = 0.05.  Be sure to state the competing hypotheses, compute the appropriate test statistic, and state your conclusion about whether you reject or fail to reject H0.         

